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- 403 200,000 * 4321 * 23] 17,200
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0 iz
JL-Y
Ho Mo

02 02

2
J2

20
R
J2H

20,000& = 43¢l = 23| » 128
25,000& = 125Q! * 23|

20,640
6,250

©

11,912

10,200

1,712

9,512

10,200

A\ 688

2l
35,0002 * 252 * 102
2 8,750,008 * 8.7%

9,512
9,512
8,750

762

10,200

N 688

2,400

2,400

*
>*

SRE 100,000& = 2@! * 128

2,400
2,400

2,400

78,670

73,380

5,290

78,670

73,380

5,290

41,370

40,050

1,320

EEES

sos 35,0002 * 291 % 752
2 BAIY o

35,0002 * 491 + 302

ool 1,330,000 * 29 * 122

41,370
5,250

4,200
31,920

40,050

1,320

15,700

16,100

A400

OI2HEH I 300,008 * 1244
EPE W40 N

100,000& = 30HA * 23

HEE EX 1,500,000 * 13

A== EL 5,000,000& * 22

5,700
4,200
3,600

600
1,500
1,500

10,000
10,000

6,100

10,000

A400

21,600

17,230

4,370

2 HALES 500,000& * 23

800& =+ 22 * 5,000=
10,000& * 100%
S23| 50,000& * 5& * 53

1,750& = 84+ 752 » 3[4
1,6008 = 204 = 752 + 304

21,600
1,000
9,000

8,000
1,000
1,250
10,350
3,150
7,200

17,230

4,370
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HE S (SH) - HRAY - BES 0l & e Hlm= 2
UEH) 233,981 271,401 A37,420
64,271 90,242 N25,971
64,271 90,242 N25,971
a] 64,271 76,442 212,171
= 64,271 76,442 A12,171
NEIE RS
7,457 » 67AI2F « 1621 = 12&8 * 0.67 64,271
169,710 181,159 A11,449
169,710 181,159 211,449
234l 108, 110 94,159 13,951
=2yl 44,916 42,314 2,602
O et~ 14,868
I HTAL =5 200,000& * 12& 2,400
SOEXIIHEBH ESE
165,000& = 123 1,980
LYALEEst2e 2292 190,000 * 128 2,280
S| 838 =2 80,000 =12& 960
= ZPAHIH HMIZ 100,0008 = 221 = 12& 2,400
MNEEZTLY 300,000& = 12& 3,600
WMEAES 13,0002 * 88 = 12& 1,248
O 2g=+¢ 7,300
- 22 20,000& * 121 * 365¢! 7,300
O =&l 9,408
- goYoxw
7,000& * 162! » 53] » 12& 6,720
- HSEAEX L MYIISYEED| o5
7,000& » 1621 * 23| * 12& 2,688
Axt= 13,340
- SAD| & ZelED]
135,000& = 7CH = 12& 11,340
HAF XS 200,000& * 102/ 2,000
=243l 63,194 51,845 11,349
232= & HA 40,194
HARA MRS 2,300,000 » 123 27,600
HOIEEE HMIIRS 40,000&  12& 480
YHZ CCTV &II23 40,000& 128 480
HARA &ot=E 23 300,000& + 12& 3,600
HOIESH &ot=E 23
20,000&  12& 240
FEHRS 1,900& * 30021 » 12& 6,840
FROESEE 49,500 = 12& 594
sSte= 30,000 » 123 360
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0z N>
J2

|

02 x

M 0z A
0¥ {0

sois
A (L)
H

CRA Y OR(E) - MRAY - BAS Aol e =2
0 4 o
O A& EHIRsXb 6,000
- CCTV |SXE= 500,000& = 12& 6,000
O XtEH& el 17,000
- A ESXE 3,000,000& = 1CH 3,000
- HAXE 7,000,000& = 2CH 14,000
202 (4 HI 49,000 52,000 23,000
01 =W 1,000 1,000 0
O guge =& 50,000& * 22! * 10 1,000
02 XY 48,000 51,000 23,000
O XN 250,000& = 1621 = 12& 48,000
203 HRF&AH| 10,800 0 10,800
01 JI22IHRF4| 6,600 0 6,600
O HZ(32r012) 6,600,000& » 14 6,600
04 BABIHREFEH 4,200 0 4,200
O Y &H(30010l3t) 350,000& * 12& 4,200
204 HPdAH| 1,800 0 1,800
01 Mg IR 1,800 0 1,800
(O FS) 150,000& = 121 = 12& 1,800
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AZ: NET SUS SN HFIS
HE: SIS FOIHAAL
A4S FUSAAY (25l &2
- _ _ Muo
- RN - F3H - SA(SA) - MRAY - BES Off &F K Ofl At ot Hws2
369,891 499,824 £129,933
1S FUSAAY 80,000 86,950 26,950
1S FoSAAL 80,000 86,950 26,950
SIS ZoIHAAY 80,000 86,950 26,950
401 Al&HIL 20| 80,000 86,950 6,950
01 Al&H] 80,000 86,250 26,250
O A72 FOSAAY 80,000,008 * 1 80,000
S FoHEH 29 110,850 230,460 £119,610
1S FOME 29 81,150 205,020 £123,870
HEIS FUNIME 29 73,350 80,760 A7,410
201 Yer2 Y| 64,350 68,960 A4,610
01 A2l 43,360 47,860 A4,500
O st 5,920
- EREY M 2002 * 5,000 * 23l 2,000
- OHH B0t MIE 70,0008 * 5HA * 43 1,400
- d2AHOIE FA2 10,0002 * 122 1,200
- ROIFK JIHAL BAE
110,008 * 128 1,320
O 2g+g 37,440
- FOIRIIME ALY
20,0002 * 16AIZH * 8IS * 122 30,720
- ZOINXISAS oA ag
20,0002 * 2891 * 122 6,720
02 IT2Y| 20,990 21,100 A110
O 2222 < Al 14,900
- ®II, H3, 4G4AE 23
900,000 * 122 10,800
- CAIARS 600,008 * 62 3,600
- FOIRAME B, MULHE
500,008 * 13| 500
O ANEZHIRXHI 6,090
- AT, WHEYI| R
10,0008 * 122 1,200
- FOIRAME SASMOIYAHIAEE
9,500% * 300 2,850
- FORIME SH YR TF
20,0002 * 2JH 40
- FORAME ASHE AL
20,0002 108! 2,000
301 LBAI 2,000 2,000 0
10 BAAHI 243 2,000 2,000 0
O ZQINX NASs DT 2,000,002 * 14 2,000
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0z N>
-

1S FOIME 29
1S FOIME 29

M- FE - SRA(310) - MISAY - e S sl e HlRE2
ANEHI LRI 3,500 500 3,000
A& H 3,500 500 3,000
O Il &x 3,500,000& * 14l 3,500
Aok SHI 3,500 9,300 25,800
R = FH S| 3,500 9,300 25,800
O FURXME YHD 7Y S
1,000,000& * 24! 2,000
O FYURXLH TV 2 1,500,000 » 1CH 1,500
15 FCIMEH 222 7,800 9,400 A 1,600
22| 5,400 5,400 0
232 ZH| 5,400 5,400 0
O A& &EHI=X bl 5,400
-HE(g=s S) 3,000,000& = 14 3,000
- D) 100,000& = 4CH * 63l 2,400
2= HH| 2,400 0 2,400
03 SEYRAH 2,400 0 2,400
O NMEegEs:d 100,000& = 221 « 12& 2,400
d31s 223 =& 29,700 25,440 4,260
d381s &2 3| 29,700 25,440 4,260
101 el ] 12,600 12,240 360
JIZHZ2NSE S 12,600 12,240 360
O AMSSA F8 L SHEFH 212
35,000& * 491 * 60 8,400
O ogolsd &322
35,000& * 20! » 60 4,200
2 et FH| 3,200 3,200 0
AtR2teld 3,000 3,000 0
O get=EH| 2,400
- SYEMLD SYESIIQHLE ME
150,000& * 542 750
- SEMALD SO0 L ANSEX
330,000& * 52 1,650
O gx= 600
- 22X 200,000& = 1CH = 33l 600
23 2ZH| 200 200 0
O A& ZEHIRXH 200
- Ol=01 & ZEI| FA2el
100,000& = 2CH = 13l 200
X 28l 13,900 10,000 3,900
M=l 13,900 10,000 3,900
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0z N>
-

DIME 29
221F0 =X

= = HUE &
HE - S9(3) - MRAY - BAS Abod e =%
NEOADLE 2 2B ZAX
200,0008! * 55 * 54 5,000
20 5008 + 5,002 * 23l 5,000
NE Y HIE 5,0008 * 150 * 23| 1,500
otd o SEFH FX 200,008 * 128 2,400
3 SF1S) 179,041 182,414 £3,373
52,221 71,056 ~18,835
52,221 71,056 18,835
bl 52,221 58,456 16,235
== 52,221 58,456 16,235
NEEEES=
7,457 x BTAIZE » 1321 x 128 * 0.67 52,221
126,820 111,358 15,462
126,820 111,358 15,462
201 Y2 | 66,670 66,988 A318
01 AFR22/H| 38,170 36,388 1,782
SRR =L 7,830
YVHAILEE PY(SAEX S)
350,0002 * 128 4,200
w2y ns2 15,0008 * 65 + 128 1,080
SOIER I B8
120,0008 + 12 1,440
HIIQGHEY S AE 448
250,0002 * 33l 750
OIAESAEH OHHR M
302 = 12,0000H 360
edsg 7,300
- WeaRsd 20,0002 * 19! » 365 7,300
O 2zl 10,080
- YEYeEx
7,0008 * 102 » 1201 * 128 10,080
O gxz 12,960
- =ZADI 275,0008 * 104 * 128 3,300
ZRIED) 110,000 * 70 * 128 9,240
- A 35,0008 * 104 » 128 420
02 2zl 28,500 30,600 £2,100
O 2222 2 Al 23,500
SHRI(AABSUE U2 S)
1,75080 « 50024 * 12 10,500
Hle3 800,000 * 128 9,600
Mot Ee3 200,0002 * 128 2,400
RSNEHE L HSIA
800,0002 * 1l 800
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HT2E FRIEAY
TS FUEAAY (25l &2
- _ _ Muo
- RN - F3H - SA(SA) - MRAY - BES Off &F K Ofl At ot Hws2
466,209 514,760 148,551
2E FOIERALY 50,000 76,500 £.26,500
25 FRIHRAY 50,000 76,500 226,500
HoS FRISRAY 50,000 76,500 £.26,500
401 Al&HIL =2 0| 50,000 76,500 226,500
01 Al&t| 50,000 76,000 26,000
O A72 FOUXVAY 50,000,008 * 11 50,000
S FOHE 29 199,950 191,610 8,340
25 FUMEH 2Y 177,770 168,510 9,260
Hos FUNXME 2Y 87,400 60,540 26,860
201 Yer2 Y| 85,400 58,540 26,860
01 A2l 78,200 50,840 27,360
O st 4,600
- FORAHE SHER S HH
70,0002 * 5)HA * 43] 1,400
- 22 M 500,008 * 43| 2,000
- FONXMH AR BAE
10,0008 * 122 1,200
O 2949 52,280
- ZOINAME T2 LAY
20,0009 * 16AI2H * OTHS * 122 34,560
- ZOIXAE B0 B
20,0002 * 2801+ 128 6,720
- F2RY BHIAMY BALY
20,0002 * 11944 * 50% 11,000
O yxe 21,320
- HE2E FUMIME LRSS
20,000,0002! * 11 20,000
- ZRIED 110,008 * 1CH * 122 1,320
02 B2 7,200 7,700 A500
O 2R3 ¥ WAl 5,400
- FOIXAIME IR 300,008 + 122 3,600
- FORIIME H323 Y AEURES
150,002 * 122 1,800
O AN&ZHISXI 1,800
-2z 1,000,0002! * 11 1,000
- Y] 10,0008 * 4CH * 23] 800
301 LBAI 2,000 2,000 0
10 BAAHI 243 2,000 2,000 0
O Z=QIXZ NASs DT 2,000,002 * 1A 2,000
Hos -2l - 9y 2Y 87,970 87,970 0
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AR N2T SUIS SN 4TS
HE: 4HS FOUME 29
4TS ZOIMEH 29 (e @8
= - FSIE =
=24 -3 -H2A(SH) - NRAY - BEZ Ol &+ 9K Ofl At ot HwsZ
301 YerBA3 87,970 87,970 0
05 -2 -HPHS2BHI 87,970 87,970 0
O E-2lzsry 78,720
-olzsy 200,008 * 2491 * 122 57,600
- A012 200,0008 * 249 * 23| 9,600
- sloEANLY
20,0008 * 2491 * 23| + 128 11,520
O erEsg 25,0008 * 1850 * 23 9,250
NS ZOIME Y2 2,400 20,000 £17,600
204 e 2,400 0 2,400
03 SHYL AL 2,400 0 2,400
O HRZYILE 100,002 * 292 * 128 2,400
4FoS SRIHY FZ 22,180 23,100 A920
4F¥os #3FY| 22,180 23,100 A920
101 Q1248 4,200 6,120 A1,920
04 JIZH2EHSE LS 4,200 6,120 A1,920
O ozi0IB e
35,0008 * 201 * 602 4,200
201 Yer2 Y| 8,980 8,980 0
01 AtR2elt] 8,980 8,980 0
O o8yl 2,500
- MADIHE ST L B M
50,0002 * 5074 2,500
OR=1 5,880
- 2N ARFH S
7,002 = 1421 % 53 * 128 5,880
O gxg 600
- BRI U
100,000 * 104 * 22 * 33| 600
206 2| 9,000 8,000 1,000
01 HEH| 9,000 8,000 1,000
O =2 2 B F|
20,0002 * 105 * 54 * 53| 5,000
O B2 @ BAXH 5008 * 4,0002 * 23| 4,000
HH e A A (HHLE) 216,259 246,650 £30,391
=2l 60,255 75,552 A 15,297
oIz 2| 60,255 75,552 ~15,297
101 Q1248 60,255 62,952 A2,697
01 24 60,255 62,952 A2,697
O Aztelaesy
745721 % 67AIZF * 1501 * 128 * 0.67 60,255
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A2 NET SPES SN HFRS
I Y 2HAH(8FH2E)
©JlE23dl (H:®2)
SR BB OS(5) - NRAY - BAS 0l & e Hlm= 2
=&l 156,004 171,098 215,094
Jl2& | 156,004 171,098 215,094
201 LEt23d| 91,204 93,718 AN2,514
01 AtE222|Hl 38,436 41,610 A3, 174
O get=gZH| 10,640
- QIRAAMA ME 10,000& * 108 = 20& 2,000
- UHIAREE 200,000& * 12& 2,400
- SANEXN 2 200,000& * 12& 2,400
- FAIRo1AH =S 120,000& * 123 1,440
- MIItdEA =2 S 1,500,000& * 13 1,500
-AER=EZ= 15,000& * 58 = 123 900
O 28x¢ 7,300
- MEI2RsY 20,000& » 1H * 365 7,300
O =gl 7,056
- JHYgRFA
7,0008 * 1421 » 62 » 123 7,056
O gx=z 13,440
- ZelH Il 100,000& = 9CH = 12& 10,800
- SAI 220,000& = 10H = 123 2,640
02 2234l 52,768 52,108 660
O 3323 % dMA 26,220
- RERS 1,750& * 70021 » 12& 14,700
- d3R3 80,000& * 12& 960
-8IIe3 800,000& * 12& 9,600
- & - ol=ER3 80,000& * 12& 960
O HZHl 9,408
- =237
1,400 = 24 = 8BAIZt = 10562 = 4[H 9,408
O AM&EZEHIRXIH 13,140
- HEMAMEH(SEUALSII)
230,000& * 4CH * 123l 11,040
-4 1,897& * 843m’ 1,600
== -\ 100,000& = 5CH 500
O XrHE& eI 4,000
- A8SE 4,000,000& * 1CH 4,000
202 (48l 46,000 46,000 0
01 =LA b 1,000 1,000 0
O gsge =& 50,000& * 10Q! * 23| 1,000
02 XY 45,000 45,000 0
O XN 250,000& * 1521 = 123 45,000
203 HRF&H| 9,600 0 9,600
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6,600

3,000

1,800
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A23,980

A 23,980

H3r
uiled!
pak=

31,380
31,380

=
o

s

<J

6,600
6,600
3,000
3,000

1,800
1,800
1,800

7,400
7,400
5,000
2,400

X0
Bl

A

ol

Ml = AF

- SR (21H)

. N XH
S =

-2 A

r
<N

2 x 14

6,600,000

KJ
Kk
ok
ol
30
/3]
3

Ik

=

[und

2 x 12

250,000

10

==
110

<+
o+
ol
i
Rl
Rr

o« 12« 128

=
=

-

KO
Ho

150,000

| =Hl

Kk

405 Ktk

01 ML =ESF=H

[E]

5,000,000& = 1CH

80,000& * 307H

O 3o oIt ¢
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N=7 Seis SN HBIS
BEIS FUSAAY
BEIS FUEAAL (25l &2
- _ _ Muo
CEN I SR(EH) - NRAY - BAS 0 & 24 e HRE2
472,691 516,220 £43,529
815 FoUXHAL 71,000 103,000 £32,000
815 FoUSAAL 71,000 103,000 £32,000
S1S FOULAAY 71,000 103,000 £32,000
401 AIEHIL2CH] 71,000 103,000 A32,000
01 Al 70,000 102,000 £32,000
O A2 FOSFAAY 70,000,008 * 14 70,000
03 Al& S CH| 1,000 1,000 0
O ZQUHAAY =& 1,000,000 * 1Al 1,000
815 FUMH 29 221,377 193,048 28,329
S1S FOMEH 29 196,170 162,960 33,210
815 FUANIMEH 29 81,640 66,830 14,810
201 LByl 67,640 64,830 2,810
01 At 55,640 52,630 3,010
O Y8l 2,840
- E2 #49% ME 70,0002 « 5HA * 43 1,400
- POUHTAIAY SAR 120,008 * 128 1,440
O 2949 52,800
- ZOITIIME ALY
20,0002 * 16AI2F + 12042 * 122 46,080
- XN 50 B
20,0009 * 289! * 122 6,720
2 222 12,000 12,200 A200
O 22223 % MAl 9,600
- ®slea 10,0008 * 122 1,200
- ®Ile2 700,008 * 122 8,400
O ANZZHISXI 2,400
- 25017 42 2 AR RN S
200,002 * 122 2,400
301 LHBAI 2,000 2,000 0
10 BAAH 243 2,000 2,000 0
O ZONXAE NASs DS
2,000,0008 * 14! 2,000
405 THAHE S 12,000 0 12,000
01 RAUSEHSH| 2,000 0 12,000
O w222 500,008 * 4CH 2,000
O ZQIRXIME ZIIPY 10,000,002 * 1A 10,000
815 S -2 -9y 2Y 76, 130 76,130 0
301 LB 76,130 76, 130 0
05 S-2l-BEES2AI 76, 130 76, 130 0
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0z N>
-

_ _ HE T
N - Z3 () - MM - BES e loﬂ/ix_FOH Hos
O s ezasy 68,880
-ol2ag 200,0002 * 2191 * 128 50,400
- aoi3 200,0008 * 2191 * 23] 8,400
- BloFA LY
20,0008 * 2191 * 23] * 122 10,080
O erzg 25,0002 * 14501 * 23] 7,250
1S Z0IME 2goe 38,400 20,000 18,400
X2 s A | 2,400 0 2,400
SEEEEE] 2,400 0 2,400
O NeggBes 100,00080 * 221 * 128 2,400
L] 36,000 20,000 16,000
A& 36,000 20,000 16,000
O A SHLLTA 90,0008 * 400m 36,000
» ZelFEo F3 25,207 30,088 ~4,881
HEIS BIFH 25,207 30,088 ~4,881
o1 24| 4,725 4,590 135
04 JIZH2EXS B4 4,725 4,590 135
O otz sz FY %
35,0002 * 39! * 52 * 93] 4,725
st gyl 6,982 8,998 A2,016
AR B2l 6,982 8,998 A2,016
O ger+gl 2,950
- SAZMYIIS ME  150,0008 * 8I44 1,200
- M| HEYY ot BmE MR
50,0008 * 45 53 1,000
- M| SEEI| 2N B MR
150,0008 * 544 750
O 2zl 4,032
- MEDISIISEYR
7,008 * 1201 * 43| * 122 4,032
WER] 13,500 16,500 A3,000
WER] 13,500 16,500 A3,000
O SsHE I 2 WS
20,0008 * 105 * 103 2,000
O E23Hl 88
5,0002 * 105 * 1004 * 43 2,000
O 28 7 5,008 * 5002 * 23] 5,000
O BoA X 2 BH  150,0008 * 3004 4,500
HHSAAH (HB1S) 180,314 220,172 39,858
ol egyl 48,204 66,559 18,355
o2yl 48,204 66,559 18,355
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=3 SH M
H2IAd(4818)
22 Hy chel &
SN HE G (EH) - NRAY - B 01 &t o8 Bl HlRE2
0 & 24
101 el 24| 48,204 53,959 A5, 755
01 = 48,204 53,959 Ab, 755
O AM222f+E
7,4573 = 67AI2F = 1201 « 12& * 0.67 48,204
24| 132,110 153,613 221,503
=&l 132,110 153,613 221,503
201 LetHH| 81,210 74,113 7,097
01 AtR22/Hl 39,940 38,896 1,044
O =&Hl 15,720
- JIZANRES 350,000& = 123 4,200
- QIRNA Y SEHZE 1,000,0008 * 23] 2,000
- Q@A 3 E 200,000& = 122 2,400
- SAEX 7Y 25,0008 * 102HA x 123 3,000
- FUHE 2 AN M
100,000& = 221 « 8& 1,600
- A2z 15,000& * 6& * 12& 1,080
- REXIIHEH ESE
120,000& = 123 1,440
O S| 5,040
- goYge s
7,000& = 1201 = 53| » 12& 5,040
O 2g=+¢ 7,300
- 284 20,000& * 12! » 365 7,300
O gxe 11,880
- =AY =SEARID
220,000& * 2CH  12& 5,280
- ZelHJ| 110,000& = 500 = 12& 6,600
02 23234l 41,270 35,217 6,053
O 322232 % A 31,276
- RURS 500,000& = 122 6,000
- &IIe3 1,000,000& * 12& 12,000
- N3tz 150,000& = 12& 1,800
- d 2L =2 390,000& = 23] 780
- SY3¥AL =2 170,000& = 23| 340
- UASXA & BEx 700,000 * 1CH 700
- Mol R= 55,000& * 12& 660
- e RE= 100,000& = 23l 200
- RS =2 33,000& * 122/ 396
- EAMNARE 700,000& = 123 8,400
O AM&EHI=Xd] 6,494
-d= 3,839& = 9g2m 3,694
- TglH)l & #HIEH R4
2,000,000& * 14l 2,000
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a3 N27 SUS SN MEBIS
PSS gt (a=1s)
=&l (¢t &
SN EH . O (3) - HIBAY - BAS Ofl A o4 gggf; HRS2
- HLEEET) 400,000& = 23] 800
O Xtekdetd| 3,500
- A 3,500,000& * 1CH 3,500
202 04| 37,000 37,000 0
01 2Wobl 1,000 1,000 0
O YHPREX 50,000& = 1091 x 23| 1,000
02 EHOAH| 36,000 36,000 0
O NI 250,000& = 1221 = 128 36,000
203 PRF=&| 9,600 0 9,600
01 JI22HE =8| 6,600 0 6,600
O sSZ&H(3etg|et) 6,600,000& = 14 6,600
04 2EASIEHRF=AH| 3,000 0 3,000
O #g1i1s(15210l0t) 250,000& * 12& 3,000
204 X FSHAHYH| 1,800 0 1,800
01 NHZHRLHBH| 1,800 0 1,800
O s 150,000& = 121 = 12& 1,800
405 KHAHF S HI 2,500 42,500 240,000
01 AL =S F SHI 2,500 40,500 A 38,000
O 5 Ms2EI| WAl 2,500,000& * 1CH 2,500
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A= N2 SES SN uE2S
HE: WSS FOUSAAY
SRl ME2E FOISAALY (el &2
- _ _ Muo
AR 2N B SR(S) - MBAY - BAS 0l &k 24 e HlnE2
MBS 691,245 724,475 £33,230
HEOE FOIHAALY 130,500 150,000 £19,500
HEOE ZOIHAALY 130,500 150,000 £19,500
HEOE ZOIHAALY 130,500 150,000 £19,500
401 Al&HIL 20| 130,500 50,000 19,500
01 Al&H] 130,000 149,500 £19,500
O A72 FOSAAY 130,000,008 * 1 130,000
03 Al& S CH| 500 500 0
O =018 AYFZ 500,008 * 14} 500
MBS FUMEH 29 316,740 309,586 7,154
MEPE FOIME 29 301,290 292,686 8,604
MBS FUNXME 29 80,400 74,096 6,304
201 LByl 67,400 59,696 7,704
01 ALRelt] 59,200 54,640 4,560
O Yer4gt| 6,400
- AU ER 2B K
5002 * 1,80004 * 23l 1,800
- SYMDE BB B R
70,0002 * 5)HA * 43 1,400
- RQUFTIINBLISHS 100,008 * 128 1,200
- HIIQHPY S 2E 448
1,000,008 * 1 1,000
- 293 "4 500,008 * 23| 1,000
O 2949 52,800
- FOTRIME DALY
20,0002 * 16AI2F * 12042 * 122 46,080
- FOINXAVE B35l EHAX A2
20,0002 * 2801 * 128 6,720
02 IT2YH| 8,200 5,056 3,144
O 223 % Al 8,200
- ®Ile2 500,0002 * 122 6,000
M523 10,0002 * 128 1,200
-2 dn2Ee 1,000,000 * 14! 1,000
301 LPB A 3,000 4,400 A1,400
e TR 3,000 2,000 1,000
O FYUMX XNASs DE 3,000,008 * 14 3,000
405 THAHE St 10,000 10,000 0
01 RMLSEHSH| 10,000 10,000 0
O ZQIXIMEH IR 10,000,002 * 1A 0,000
WS £ 2l - UE 29 189,990 187,590 2,400
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43 N=7 sos SN mEeE
B3 WIS FOIME 2
AEos FOMH 2o (er9: @@
S . M. OO (5 S AL . HA 2 Al OH HEE =2}
301 LEEAZ 189,990 187,590 2,400
05 S-2l-HEEsE43 187,590 187,590 0
O s &g 173,840
-Jls=Y 200,000& * 532! = 12& 127,200
- a0z 200,000& * 5321 * 23| 21,200
- slolasag
20,000 * 5321 * 23| » 12& 25,440
O gr&E=g 25,000& * 27521 = 23| 13,750
12 JIEt243 2,400 0 2,400
O QIACHHSALA 24
10,0002 * 1021 * 23| » 12& 2,400
225 FOHEH 2322l 30,900 31,000 A 100
204 M AH| 2,400 0 2,400
03 EHHRZHI 2,400 0 2,400
O NEggsRd 100,000& = 2¢! » 12& 2,400
401 AIEHIZRHb] 28,500 31,000 A 2,500
01 Al&H| 28,500 31,000 A2,500
O Xota ¥ SEA ST AH5B20M)
5,000,000 * 14 5,000
O HAIZ P OFA2EE ZAHG8M)
5,000,000& * 14 5,000
O FQUHEH - FOXNXME 2 HI|Zel3SA
2,000,000 = 14 2,000
O FUXNXNMEHF=IE A2 HHESH &X
500,000& * 3944 1,500
O FOUXXMEYP OI220(2H201) BAF
15,000,000& * 14 15,000
2= Seldot =X 15,450 16,900 A 1,450
225 23 &I 15,450 16,900 A 1,450
101 eIl 5,250 5,100 150
04 JIZtMZ22XSE+ 5,250 5,100 150
O 2o sANY ol
5,000& » 521 » 30 5,250
201 LBt 1,200 800 400
01 AtSR2t2ldl 1,200 800 400
O gx=z 1,200
- E28 SHFEHE HFL=
0,000& * 4 * 63| 1,200
206 M= Hl 9,000 11,000 A 2,000
01 M=z 4l 9,000 11,000 A2,000
O Sgider 224 W
6003 * 5,000= * 23] 6,000
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AT MED SHS SN NBRIS
N WEIS FOMEH 29
CHR: WRPS 2RO = EERED
Al . O I . ClO (S BAIH . HAS A} OH HEE ) =2
| | | O &5 ZotA D 150,000 * 200K 3,000
HE2H Y (ARE) 244,005 264,889 A20,884
oIzt 29y 72,305 96,039 A23,734
ol 29y 72,305 96,039 A23,734
101 Q1244 72,305 80,939 A8,634
01 24 72,305 80,939 8,634
O Alzte|2esy
74572 * B7AI2F * 1801 » 128 * 0.67 72,305
JI=2 A 171,700 168,850 2,850
Il =AY 171,700 168,850 2,850
201 YUBH2AH 98,800 99,250 A450
01 AL el 42,428 40,878 1,550
O YeragH| 19,900
- SgY32)| ARE R
100,000 * 4CH * 12% 4,800
- 293 ¥4 292 500,000% * 23] 1,000
- AYEY S AE 24T
2,000,000 * 1 2,000
- UBAIRRE ¢ 250,000 * 128 3,000
- ANEOHY EE2E 40
70,0008 * 5IHA * 43 1,400
- OIRIAMA L BEYR S
200,0002 * 55 * 23] 2,000
- peas2 13,0002 * 105 * 128 1,560
- HARE Y 100,0009! * 122 1,200
- SOIFTIIHBHIRHEE  120,0008 * 12 1,440
- 3log Il MR (XMEHS)
15,0009 * 100K 1,500
O 294y 7,300
U E=I=EN= 20,0002 * 191 * 3652 7,300
O 2| 7,308
- MYD|EE U SoY2 =X Z e
7,0002 * 1801 * 42 » 128 6,048
- AgHY "a=se 22|
7,00020 = 1091 * 183] 1,260
O axz 7,920
- =2AD| U2 220,0009 * 20§ * 12% 5,280
- TRIEJ| UXKES  110,0008 * 2CH * 128 2,640
02 2Z29H| 56,372 58,372 A2,000
O Z2Q=2 2 AA 32,840
- A Bl 232 120,0009! * 128 1,440
- M52 100,000 * 1CH * 12% 1,200
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AR N2T SUIS SN MBS
HE: WBIE FUSAAL
Sl WE3S FUSAAY (e
- _ _ Muo
AR 2N B SR(S) - MBAY - BAS 0l &k 24 e HlnE2
M E3S 520,891 563, 144 ~42,253
MBI ZOILRAAY 40,600 40,400 200
MBI ZOILAAY 40,600 40,400 200
MEIS ZOILAAY 40,600 40,400 200
401 AEHI LS 40,600 40,400 200
01 Al&l 40,000 40,000 0
O A7 FOSAAY 40,000,008 * 1 40,000
03 Al& S CHY| 600 400 200
O ZoI&RNY =& 600,002 * 14! 600
HEIS FOIME 2 263, 140 271,998 78,858
HEIS ZOINE 29 224,780 223,730 1,050
MEIE FUNIME 29 120,040 121,280 A1,240
201 Ygreg| 108,040 109,280 A1,240
01 AtR2elt] 100,440 100,080 360
O o8yl 2,600
- 25DA 2IERY FLAS FH
80,0002 * 1094 * 43l 3,200
- 2sDa DRIMSYSS MR
5002 * 3,000% * 23l 3,000
- FZORXHE BLSE 2
00,0008 + 128 6,000
- HASHE LUSF0 DA DMWY 2Y
10,0008 * 427 400
O gxz 2,400
- BXHMEHBANRAE HSURE
400,008 * 63l 2,400
O 294+g 85,440
- ZOINKIME DAL
20,0008 * 16AI2F * 152+2 + 122 57,600
- HASHE LUSDA DAL (Z0])
20,0001 * 4AI2F * 222 % 1D2 * 128 21,120
- ZOINXISAS 5o BHLL
20,0008 * 2821 * 122 6,720
02 IT2YH| 7,600 9,200 A1,600
O 223 % Al 3,600
- ®3HOEW 22 S 300,008 + 128 3,600
O A&ZYISXH 4,000
- HEoRARSI|T 42
200,008 * 123 2,400
- FOIRXIME ARE 22l(g, 1)
200,002 * 24 * 43 1,600
301 YsrPAS 2,000 2,000 0
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0z N>
-

SR BB OS(5) - NRAY - BAS Aro e Hlm= 2
234l 52,221 75,552 A23,331
A2l 52,221 75,552 AN23,331
101 el4H| 52,221 62,952 210,731
01 2 52,221 62,952 210,731

O Alzte 224
7,4573 » 67A12F = 1321 = 12& * 0.67 52,221

=il 164,930 175,194 210,264
=224l 164,930 175,194 210,264
201 LBt 105,240 104,994 246
01 AFR 22l 45,760 51,834 ANG6,074

O et~ 18,600
- MR HMES L SAEX
600,000& * 12& 7,200
- AR EAES 10,0002 * 20& » 123l 2,400
- goeEN EPHA0 HIF
70,0003 = 54 = 123] 4,200
- QI 3 FH 300,000& * 12& 3,600
-ME2R3 100,000& = 123 1,200
O egrg 7,300
- NEH2RSE 20,000& * 12! » 365¢ 7,300
O =gl 5,460
- MEHDIGE U HESTAIS YRR
7,0008 * 132! » 53] » 12& 5,460
O dxz 14,400
- SAD| & ZEH 2lazs
150,000& = 7CH = 12& 12,600
- &30 dX= 150,000 = 12& 1,800
02 2223H| 59,480 53,160 6,320
O 3223 ¥ AMA 45,800
- I3 (FAI292)
1,200,000& = 12& 14,400
- daea 150,000& = 123 1,800
- RERF 1,750& * 60021 « 12& 12,600
- SAMARZ 1,000,000& = 12& 12,000
- AEEE= 1,000,000& * 13 1,000
- Aot Re3 300,000& = 12& 3,600
- 3ENERE =S 200,000& * 23| 400
O A& HIs XYl 8,880
- SOOI AZHIEEEE  130,000& * 123 1,560
W LS SN (MEe YRS
1,200, OOO% * 4EH * 13| 4,800
- SLIIHFNES 210,000& * 12& 2,520
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AZ: A= SUS SN S
M wAS FBISRAY
B S 0I5 AYS (25l &2
- _ _ Muo
A= 2M -3 - SAEH) - MRAY - BES Off &F K Ofl At ot Hws2
o S 550,226 597,629 £47,403
Bl S OIS A 5,000 15,200 £10,200
Bl S ZOIHH A 5,000 15,200 £10,200
BAHS ZEOIHAAY 5,000 15,200 £10,200
401 Al&HIL 20| 5,000 15,200 A10,200
01 Al&H] 5,000 15,000 210,000
O 298 RN Z| 5,000,000 * 14} 5,000
S FOME 29 342,410 330,016 12,394
S FOMEH 29 283,510 259,870 28,640
ME FUNXHE 29 89,640 92,780 A3,140
201 Yer2 Y| 82,640 80,780 1,860
01 A2l 82,640 80,780 1,860
O st 6,800
- E2E20 RE 70,0008 * 5HA * 43 1,400
- ZONXME TR0y 222 WA
5002 * 3,000% * 23l 3,000
- ZORIME 2HDA HE 2
200,009 * 122 2,400
O 2g+Y 75,840
- FOIRRIME ALY
20,0002 * 16AI2F + 18242 * 122 69, 120
- FOIRASIYE &0 BAHLY
20,0002 * 2891 * 122 6,720
301 YLrBA2 2,000 2,000 0
10 BAAE 243 2,000 2,000 0
O ZQINX NASs BT 2,000,002 * 14 2,000
405 THAHE S 5,000 10,000 A5,000
01 RAUSEH S| 5,000 10,000 25,000
O ZQRXIME ZIIPY 5,000,008 * 1A 5,000
NE 52l 9y 29 176,470 155,090 21,380
301 LB A 176,470 155,090 21,380
05 -2 -BPES2BHI 176,470 155,090 21,380
O 2zsg 160,720
-olzay 200,009 * 499! * 122 117,600
- 4013 200,0002 * 4921 * 2% 19,600
- SlolEA LY
20,0002 * 4991 * 23| * 122 23,520
O B4y 25,0002 * 31501 * 23| 15,750
WS EOIME 2Ynel 22,400 12,000 10,400
204 X243 AY| 2,400 0 2,400
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42 N=7 SwE S mAE
T WAS FOME 2
WAS FOIME 29 (ero): &
2.8 MM (FH) - NBAIY - BHA= Al OH &EIE Ho=2t
= T ctom s I ° . = * dos =5 0:”/‘l|_% Lsa
03 SHHRZH| 2,400 0 2,400
O NREEERA 100,000& = 2¢! » 12& 2,400
401 A &HIL 2048 20,000 12,000 8,000
01 Al&H| 20,000 12,000 8,000
O FRIWH AD % 2D 2129
20,000,000& = 14 20,000
s Zeldet =& 53,900 70,146 A 16,246
WA s S E 53,900 70,146 A 16,246
101 Q1 H| 26,600 25,840 760
04 JIZtHIZ22HSE> 26,600 25,840 760
O dtzsEEY 2%
35,000& * 72! » 20 * 43| 19,600
O SN Se2 L e oS3 22|
35,0002 * 102! = 20 7,000
201 LEt23d| 11,300 18,806 ANT,506
01 AtE22|Hl 11,300 18,056 A6, 756
O 2et=ZH| 3,000
- SYHMYD| IS et EXIE HE
150,000& * 2094 & 3,000
O =&l 6,300
- goES RN (SRR, Mg S)
7,000& * 15Q1 = 53] » 12& 6,300
O gxz 2,000
- 2HA BEN Z8 EY
1,000,000& * 14 1,000
- == FHl8 Fl 1,000,000& * 14 1,000
206 M= Hl 16,000 25,500 A 9,500
01 M=H| 16,000 25,500 29,500
2o 2 BAXH S
500& = 9,000 * 23| 9,000
O ZegtAa7y 100,000 = 504 5,000
O Zelder =2(&50!, &, &, AHNS)
500,000& * 4& 2,000
HY2HHH|(HAS) 202,816 252,413 AN49,597
223l 56,238 81,349 A25,111
oled 2Z | 56,238 81,349 A25,111
101 144l 56,238 67,449 A11,211
01 2=+ 56,238 67,449 A11,211
O ANZRRsY
7,457 * 67AI2F » 1421 « 12& * 0.67 56,238
224l 146,578 171,064 A24,486
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PNSEF 2 HH A
D MEHSA(HAS)
Jl=2l (ete:de
: - - P
=N -3 SAGAH) - AFAY - BES Off &k o Ol A o Hlns2
Jl2 3l 146,578 171,064 24,486
201 g2yl 87,678 86,264 1,414
01 Ar=2teltl 54,578 51,064 3,514
O et+gd| 26,638
-oEs sHFe 150,0008 * 122 1,800
- QIR M 300,0002 * 43 1,200
-JI2¥E AR83E 300,008 « 128 3,600
- SAEX 17,0008 * 129A « 124 2,448
- AN % 228 sy
70,0002 * 544 * 53 1,750
- FUEE 2 ZAM MA
70,0008 * 32! x 123 2,520
- A2, BX PSS 20,0008 « 85 « 12 1,920
- sselegll #el(Ed, 58,43 8)
1,500,0002 = 4CH 6,000
- ROUMIIIAZH B8AE
130,0002 * 128 1,560
- 2EXF o2 50| 29
200,0008 * 12 2,400
- 29X =els2 2RI JIHBH ES
= 120,0008 * 122 1,440
O 2g=+¢ 7,300
- Heaesg 20,0002 * 191 » 3652 7,300
O 2gd 5,040
- gHYRFx 24
7,0008 * 15Q1 » 42 « 12 5,040
O gxtz 15,600
- SADI & Z2IHII 1,300,008 « 128 15,600
02 3329l 33,100 35,200 A2,100
O 3323 2 MA 26,000
- fEEse 17508 « 6005 * 122 12,600
- UAESUY B2 QUE L2
1,750 * 200% * 124 4,200
- Hs2EE 1,200,0002 * 13 1,200
- dste3 300,000& * 12 3,600
- 22X L8 HIIQS3 S
300,0008 * 12 3,600
- EGXT LH2 ISR £22
400,0002 * 23] 800
O ANEZHIKXLI 3,600
- DEEDIY #yIY 22
300,0008 * 12 3,600
O Xrrdettl 3,500
- LIS 3,500,000% * 14 3,500
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42 N=7 SwE S mAE
B MES ARG (ANE)
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202 (4 Hl 46,200 46,000 200
01 =Wl 1,200 1,000 200
O HEM & HISFX
50,000& * 221 * 123 1,200
02 XY 45,000 45,000 0
O N0l 250,000& = 1521 = 12& 45,000
203 HRF&HI 10,900 0 10,900
01 JI22IHRF=&H| 7,900 0 7,900
O s&(8eroler) 7,900,000& = 14 7,900
04 FN2ILRFAHI 3,000 0 3,000
O #as(1521018t) 250,000& = 12& 3,000
204 XA 1,800 0 1,800
01 g FRHA | 1,800 0 1,800
O s 150,000& = 1@l » 12& 1,800
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S5 776,59 784,859 18,264
2HS FOALANY 100,000 115,000 A 15,000
SHE FOULAAY 100,000 115,000 A 15,000
2SS FOULAAY 100,000 115,000 A 15,000
401 AlEHIL 2T 100,000 115,000 A 15,000
01 Al 100,000 115,000 A 15,000
O AR ZOI=RAAY  100,000,0008 * 1 100,000
S FUHEH 29 407,800 388,770 19,030
S FUMEH 29 379,900 361,190 18,710
HE FOARXME 2 103,740 108,840 £5,100
201 ety 101,740 103,840 £2,100
01 ALl 83,280 88,840 5,560
O getsgH| 3,600
- ERESARE 70,0002 * 5HA * 43 1,400
- FUXKME E2S M
500,0008 * 23] 1,000
- RUIMIIAIAL SH2 100,008 + 122 1,200
O 2g+y 79,680
- FOURKME SASY
20,0001 * 16AIZ} * 1922 = 12 72,960
- FUXKSARE BB 2
20,0002 * 2891 + 12 6,720
02 2Z2H| 18,460 15,000 3,460
O === % HA 6,960
- ™), ®e3S 1,000,008 * 122 12,000
- FOUXXIME B 330,0002 * 128 3,960
- HIIQEEY Y ABEL2E
1,000,008 * 11 1,000
O A& ZHIR X 1,500
- ME Mg 1,500,008 * 11 1,500
301 LB AZ 2,000 5,000 £3,000
10 BAAHIZ A S 2,000 2,000 0
O FUXZ NHS3 B 2,000,002 * 13] 2,000
45 5.2 - 9% 29 252,760 245,850 6,910
301 YstBAZ 252,760 245,850 6,910
05 S -2 -unesy 252,760 245,850 6,910
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g4 FUdH 292t 23,400 6,500 16,900
204 AR FH| 2,400 0 2,400
03 SZYLR3HI 2,400 0 2,400
O NREEs:d 100,000& = 201 » 128 2,400
401 Al&HI YL SO 21,000 6,500 14,500
01 A&l 21,000 6,500 14,500
O FHAEHFEAFA DS AHT,230m")
17,000,000& * 14 17,000
O EAL 15 dJI28e uH
4,000,000 * 1JHA 4,000
s Sedet F4 27,900 27,580 320
g5 SZEH 27,900 27,580 320
101 1A 11,200 10,880 320
04 JIZHMIZ2XHSE =+ 11,200 10,880 320
OJlizes 3 EH
35,0003 * 82l » 20& * 23| 11,200
201 B2 5,700 5,700 0
01 AtR2t2iHl 5,700 5,700 0
O git==EH| 4,500
- MDISHEIIHHENE & MR
150,000 * 32l * 10904 4,500
O axtz 1,200
- ZREXNE 200,000& = 2CH 33l 1,200
206 M=l 11,000 11,000 0
01 M=Hl 11,000 11,000 0
O Mzl 11,000
- SECREY L BYA 2R
5,000& * 28 * 50004 = 102 5,000
- BUXH Y BRTY
1,000& * 3,0002 * 23l 6,000
HE2IHH(RLES) 268,795 281,089 A12,294
gEdg 72,305 96,039 AN23,734
S2dl 72,305 96,039 AN23,734
101 1A 72,305 80,939 N8,634
01 2= 72,305 80,939 N8,634
O Ntel2eag
7,4573 * 67AI2E = 1821 » 128 « 0.67 72,305
=34l 196,490 185,050 11,440
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=3l 196,490 185,050 11,440
201 B3| 127,040 129,250 A2,210
01 AtR 22l 70,160 72,270 A2,110
O gpt=8Hl 37,180
- R0HT 100,0002 * 122 1,200
- DRIES | 22l
250,000& = 504 23l 2,500
- LBHALR 200,000& * 23| = 12& 4,800
- FoEs Rt
100,000& = 2¢! * 12& 2,400
- NIREAIQHLH STLAX] Y2t
3,000& * 4,000% 12,000
- SALEX 23,0003 * 30=A « 123 8,280
- QNN U RSN
250,000 * 45 * 63l 6,000
O 2a+y 7,300
- el 20,000 * 191 = 365 7,300
O =&l 15,120
- HsEd HYPRFAl
002 = 1821 » 103 * 123 15,120
O gx=z 10,560
- 2A ¥ =P
220,000& = 404 = 128 10,560
02 ZB2Y| 56,880 56,980 A100
O Z2R2 2 MM 40,500
- FpS=ES 2me3
1,750 = 1,100 = 123 23,100
- &JRe3 800,000& = 123 9,600
- daea 300,000& = 122 3,600
- Mot AMER 100,000& = 12& 1,200
- AASXEE= 1,000,000& * 14 1,000
- It E 1,000,000& * 14 1,000
- HEZHA U AZLLR
1,000,000& * 14 1,000
O o=l 6,880
- AIRA Y A=
1,400& * 5 £ BAI2H » 105 5,880
=== 250,000& * ACH 1,000
O AM&EHI=Xd] 6,500
- EAA2 3,000,000& * 14 3,000
- SEgYs 70,0002 » 500 = 10& 3,500
O Xgded 3,000
- A" EX 3,000,000& = 1CH 3,000
202 O4Hl 55,000 55,000 0
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